Gl

C15

()
™~
e (@)
- < I
- e f S .
W([g oModky OlUpMs(a7°0z (9107 0681 |08l ]98T £ —~ [0
o
ol WD
~|
b
2=
[an
o
S
r~
-+
0GZYD 706 TS| vl 5s 00°GkE
” . [0
= — ——— 2/°9)="P2y ‘70p njoupy auazobim foug =
= wQ'1g DWOdK] olupnIS[I0Z (9807 |22 81 2681 [v12 £ 000%¢
(@]
<
(&)}
V@)
o
S
&
O
L.
N O
= b 2 |
o T - — D W
5 Wy g ORodkT BIpMIS(GG0Z [SS O [VG Bl [3E 8T 10T | I [0t
&l
=
M3 L0
|
M)
[
..
fa]
8
B
B2
& 09'8l="P'2y ‘704 NjouDY Hluazabm foig 3k
2 - r 08'81="p2y ‘Z0p njouny siuozobm Toig @
S = WIp'|@ OMOPLYSON IUPMIS| 22 0Z |220¢ |BC Rl (8181 |98 S 00922
77 L TS cgl e 00'9%8
\0O e
3 i M
o = WO'1g DROUK] DIPMIS| 20z [§202 |6 @ [STal [9gT = 00022
S
<
0 0]
(o
S
o
be
9]
g = . S
) WO'e omodky OIPMS|IE0Z (1502|6281 [60°81 202 E 00702
|ae
=
/ &+

C13

G112




